Summary - Tabulation of Bids MT OMAD 18(38) Minuteman Missile Base Roads

Bids Opened: 05-25-2005

Schedule	Bidders		
	Konitz Contra	cting Inc.	Engineer's Estimate
Base	Awarded 6/16/05	\$ 1,715,875.56	\$1,503,698.70
Option A	Awarded 6/16/05	\$ 105,505.28	\$129,691.60
Option B	Awarded 6/16/05	\$ 207,506.46	\$263,003.20
Option C	May be awarded at late	r date \$260,869.84	\$314,272.30
Option D	May be awarded at late	r date \$169,896.90	\$186,885.00
Option E	May be awarded at later	r date \$200,124.20	\$203,416.00
TOTAL		\$2,659,778.24	\$2,600,966.80

Bid Schedule - Base

Project No.: OMAD 18(38)

Project Name: MINUTEMAN MISSILE BASE ROADS OMAD 18(38)

State: MT Opened at: Helena MT County: TOOLE,TETON,PONDERA By: Michael Kulbacki

MALMSTROM AFB Date: 05/25/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Julee McTaggart

Title: Contracting Officer Date: 5/30/2005

Contract Awarded to: KONITZ CONTRACTING, INC. Date: _6/16/2005_

Contractor

Konitz Contracting Inc
PO Box 598
Lewistown, MT 59457

Lewistown Service S

Engineer's Estimate 1,503,698.70

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Base Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
	LPSM nitz Contracting Inc GINEER'S ESTIMATE	MOBILIZATION	ALL	160,000.00 111,000.00	160,000.00 111,000.00
15301-0010	LPSM	CONTRACTOR QUAL	ITY CONTROL AND	ASSURANCE	
	nitz Contracting Inc GINEER'S ESTIMATE	_	ALL	17,510.00 16,910.00	17,510.00 16,910.00
	LPSM nitz Contracting Inc GINEER'S ESTIMATE	CONTRACTOR TESTI	NG ALL	15,170.00 16,910.00	15,170.00 16,910.00
		GONGERNAGE		10,910.00	10,910.00
	LPSM nitz Contracting Inc GINEER'S ESTIMATE	CONSTRUCTION SCH	EDULE ALL	6,065.00 9,872.00	6,065.00 9,872.00
	MGAL nitz Contracting Inc GINEER'S ESTIMATE	WATERING FOR DUS	T CONTROL 3,080	21.06 19.00	64,864.80 58,520.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADIN	G H, ROAD P-10	
	nitz Contracting Inc GINEER'S ESTIMATE		17,100	10.73 10.50	183,483.00 179,550.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADIN	G H, ROAD Q-11	
	nitz Contracting Inc GINEER'S ESTIMATE		6,100	14.28 10.50	87,108.00 64,050.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADIN	G H, ROAD P-2	
	nitz Contracting Inc GINEER'S ESTIMATE		21,300	12.75 10.50	271,575.00 223,650.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADIN	G H, ROAD P-3	
	nitz Contracting Inc GINEER'S ESTIMATE		3,800	13.20 10.50	50,160.00 39,900.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADIN	G H, ROAD P-5	
	nitz Contracting Inc GINEER'S ESTIMATE		15,800	14.15 10.50	223,570.00 165,900.00

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Base Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30110-0	0000 TON	AGGREGATE SURFA	CE COURSE GRADING	G H, ROAD Q-13	
	Konitz Contracting Inc		9,700	12.15	117,855.00
	ENGINEER'S ESTIMATE			10.50	101,850.00
30110-0	0000 TON	AGGREGATE SURFA	CE COURSE GRADING	G H, ROAD R-26	
	Konitz Contracting Inc		17,500	10.34	180,950.00
	ENGINEER'S ESTIMATE			10.50	183,750.00
30110-0	0000 TON	AGGREGATE SURFA	CE COURSE GRADING	G H, ROAD R-27	
	Konitz Contracting Inc		4,300	9.50	40,850.00
	ENGINEER'S ESTIMATE			10.50	45,150.00
30110-0	0000 TON	AGGREGATE SURFA	CE COURSE GRADING	G H, ROAD S-40	
	Konitz Contracting Inc		9,100	10.90	99,190.00
	ENGINEER'S ESTIMATE			10.50	95,550.00
30301-6	5000 STA	ROADWAY RECOND	ITIONING		
	Konitz Contracting Inc		1,785.90	56.40	100,724.76
	ENGINEER'S ESTIMATE			53.00	94,652.70
62201-0	0300 HOUR	DUMP TRUCK, 12 CU	BIC YARD MINIMUM	CAPACITY	
	Konitz Contracting Inc		9	70.00	630.00
	ENGINEER'S ESTIMATE			70.00	630.00
62201-0	O550 HOUR	BACKHOE LOADER, 24-INCH WIDTH	6 CUBIC FOOT MINIM	IUM RATED CAPACI	TY BUCKET,
	Konitz Contracting Inc		9	55.00	495.00
	ENGINEER'S ESTIMATE			60.00	540.00
62201-2	2050 HOUR	ROLLER			
	Konitz Contracting Inc		9	50.00	450.00
	ENGINEER'S ESTIMATE			60.00	540.00
62201-2	2850 HOUR	MOTOR GRADER, 12	FOOT MINIMUM BLA	ADE	
	Konitz Contracting Inc		15	75.00	1,125.00
	ENGINEER'S ESTIMATE			80.00	1,200.00
63501-0	0000 LPSM	TEMPORARY TRAFF	IC CONTROL		
	Konitz Contracting Inc		ALL	17,100.00	17,100.00
				14,374.00	14,374.00

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Base Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63509-10	00 FIX HR	TEMPORARY TRAFF	FIC CONTROL, FLAGGE	R	
]	Konitz Contracting Inc		2,200	35.00	77,000.00
I	ENGINEER'S ESTIMATE			36.00	79,200.00
OMAD 1	8(38	Includes the following S-40	roads: 33.82 miles P-10, (Q-11, P-2, P-3, P-5, Q-1	R-26, R-27,
	Konitz Contracting Inc ENGINEER'S ESTIMATE			0.00 0.00	0.00 0.00

Bid Schedule - Option A Project No.: OMAD 18(38)

Project Name: MINUTEMAN MISSILE BASE ROADS OMAD 18(38)

State: MT Opened at: Helena MT
County: PONDERA By: Michael Kulbacki

MALMSTROM AFB Date: 05/25/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed:Julee McTaggart

Title: Contracting Officer Date: _5/30/05__

Contract Awarded to: KONITZ CONTRACTING, INC. Date: 6/16/2005_

Contractor	Bid Amount Responsive
Konitz Contrating Inc PO Box 598 Lewistown, MT 59457	105,505.28
Engineer's Estimate	129,691.60

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Option A Project No.: OMAD 18(38)

Item Item No. Unit	Item Description	Quantity	Unit Price	Amount
15101-0000 LPSM Konitz Contrating Inc ENGINEER'S ESTIM		ALL	1,000.00 10,000.00	1,000.00 10,000.00
15301-0010 LPSM	CONTRACTOR QUAL	ITY CONTROL AND A	ASSURANCE	
Konitz Contrating Inc ENGINEER'S ESTIM	-	ALL	1,500.00 1,440.00	1,500.00 1,440.00
15401-0000 LPSM	CONTRACTOR TESTI	NG		
Konitz Contrating Inc ENGINEER'S ESTIM		ALL	1,010.00 1,440.00	1,010.00 1,440.00
15801-0000 MGAL	WATERING FOR DUS	T CONTROL		_
Konitz Contrating Inc ENGINEER'S ESTIM		270	21.06 19.00	5,686.20 5,130.00
30110-0000 TON	AGGREGATE SURFA	CE COURSE GRADING	G H, ROAD S-37	_
Konitz Contrating Inc ENGINEER'S ESTIM		5,200	7.40 10.50	38,480.00 54,600.00
30110-0000 TON	AGGREGATE SURFA	CE COURSE GRADING	G H, ROAD S-39	_
Konitz Contrating Inc ENGINEER'S ESTIM		3,900	10.50 10.50	40,950.00 40,950.00
30301-6000 STA	ROADWAY RECOND	ITIONING		
Konitz Contrating Inc ENGINEER'S ESTIM		152.20	56.40 53.00	8,584.08 8,066.60
63501-0000 LPSM	TEMPORARY TRAFFI	C CONTROL		
Konitz Contrating Inc ENGINEER'S ESTIM		ALL	1,455.00 1,225.00	1,455.00 1,225.00
63509-1000 FIX HR	TEMPORARY TRAFFI	C CONTROL, FLAGGI		
Konitz Contrating Inc		190	36.00 36.00	6,840.00 6,840.00

Bid Schedule - Option B Project No.: OMAD 18(38)

Project Name: MINUTEMAN MISSILE BASE ROADS OMAD 18(38)

State: MT Opened at: Helena MT County: TETON By: Michael Kulbacki

MALMSTROM AFB Date: 05/25/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Julee McTaggart

Title: Contracting Officer Date: ___5/23/2005__

Contract Awarded to: KONITZ CONTRACTING, INC. Date: 6/16/2005_

Contractor	Bid Amount Responsive
Konitz Contracting Inc PO Box 598 Lewistown, MT 59457	207,506.46
Engineer's Estimate	263,003.20

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Option B Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0	0000 LPSM Konitz Contracting Inc ENGINEER'S ESTIMATE	MOBILIZATION	ALL	1,000.00 19,000.00	1,000.00 19,000.00
15301-0	0010 LPSM	CONTRACTOR QUAL	ITY CONTROL AND A	ASSURANCE	
	Konitz Contracting Inc ENGINEER'S ESTIMATE		ALL	2,325.00 2,920.00	2,325.00 2,920.00
15401-0	0000 LPSM	CONTRACTOR TESTI	NG		
	Konitz Contracting Inc ENGINEER'S ESTIMATE		ALL	1,010.00 2,920.00	1,010.00 2,920.00
15801-0	0000 MGAL	WATERING FOR DUS	T CONTROL		
	Konitz Contracting Inc ENGINEER'S ESTIMATE		545	21.06 19.00	11,477.70 10,355.00
30110-0000 TON		AGGREGATE SURFAC	CE COURSE GRADING	G H, ROAD T-45	
	Konitz Contracting Inc ENGINEER'S ESTIMATE		10,000	7.85 10.50	78,500.00 105,000.00
30110-0	0000 TON	AGGREGATE SURFAC	CE COURSE GRADING	G H, ROAD T-46	
	Konitz Contracting Inc ENGINEER'S ESTIMATE		8,600	9.25 10.50	79,550.00 90,300.00
30301-6	5000 STA	ROADWAY RECONDI	TIONING		
	Konitz Contracting Inc ENGINEER'S ESTIMATE		308.40	56.40 53.00	17,393.76 16,345.20
63501-0	0000 LPSM	TEMPORARY TRAFFI	C CONTROL		
	Konitz Contracting Inc ENGINEER'S ESTIMATE		ALL	2,950.00 2,483.00	2,950.00 2,483.00
63509-1	000 FIX HR	TEMPORARY TRAFFI	C CONTROL, FLAGG	ER	
	Konitz Contracting Inc ENGINEER'S ESTIMATE		380	35.00 36.00	13,300.00 13,680.00

Bid Schedule - Option C Project No.: OMAD 18(38)

Project Name: MINUTEMAN MISSILE BASE ROADS OMAD 18(38)

State: MT Opened at: Helena MT
County: PONDERA By: Michael Kulbacki

MALMSTROM AFB Date: 05/25/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Julee McTaggart

Title: Contracting Officer Date: ___5/30/05____

Contract Awarded to: MAY BE AWARDED AT A LATER DATE Date:

Contractor	Bid Amount Responsive
Konitz Contracting Inc PO Box 598 Lewistown, MT 59457	260,869.84
Engineer's Estimate	314,272.30

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Option C Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
	z Contracting Inc		ALL	1,000.00	1,000.00
ENGI	NEER'S ESTIMATE			23,000.00	23,000.00
15301-0010	LPSM	CONTRACTOR QUAL	ITY CONTROL AND A	SSURANCE	
Konit	z Contracting Inc		ALL	3,615.00	3,615.00
ENGI	NEER'S ESTIMATE			3,485.00	3,485.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Konit	z Contracting Inc		ALL	1,010.00	1,010.00
ENGI	NEER'S ESTIMATE			3,485.00	3,485.00
15801-0000	MGAL	WATERING FOR DUS	T CONTROL		
Konit	z Contracting Inc		650	21.06	13,689.00
ENGI	NEER'S ESTIMATE			19.00	12,350.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADING	G H, ROAD Q-14	
Konit	z Contracting Inc		6,900	10.00	69,000.00
ENGI	NEER'S ESTIMATE			10.50	72,450.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADING	G H, ROAD R-21	
Konit	z Contracting Inc		15,300	8.65	132,345.00
ENGI	NEER'S ESTIMATE			10.50	160,650.00
30301-6000	STA	ROADWAY RECONDI	TIONING		
Konit	z Contracting Inc		368.10	56.40	20,760.84
ENGI	NEER'S ESTIMATE			53.00	19,509.30
63501-0000	LPSM	TEMPORARY TRAFFI	C CONTROL		
Konit	z Contracting Inc		ALL	3,525.00	3,525.00
ENGI	NEER'S ESTIMATE			2,963.00	2,963.00
63509-1000	FIX HR	TEMPORARY TRAFFI	C CONTROL, FLAGGI	ER	
Konit	z Contracting Inc		455	35.00	15,925.00
ENGI	NEER'S ESTIMATE			36.00	16,380.00

Bid Schedule - Option D Project No.: OMAD 18(38)

Project Name: MINUTEMAN MISSILE BASE ROADS OMAD 18(38)

State: MT Opened at: Helena MT County: TETON By: Michael Kulbacki

MALMSTROM AFB Date: 05/25/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Julee McTaggart

Title: Contracting Officer Date: _5/30/05_

Contract Awarded to: MAY BE AWARDED AT A LATER DATE Date:

Contractor

Bid Amount

Responsive

Konitz Contracting Inc
PO Box 598
Lewistown, MT 49457

Engineer's Estimate 186,885.00

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Option D Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Konit	z Contracting Inc		ALL	1,000.00	1,000.00
ENGI	NEER'S ESTIMATE			14,000.00	14,000.00
15301-0010	LPSM	CONTRACTOR QUAL	ITY CONTROL AND A	ASSURANCE	
Konit	z Contracting Inc		ALL	2,135.00	2,135.00
ENGI	NEER'S ESTIMATE			2,055.00	2,055.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Konit	z Contracting Inc		ALL	1,010.00	1,010.00
ENGI	NEER'S ESTIMATE			2,055.00	2,055.00
15801-0000	MGAL	WATERING FOR DUS	T CONTROL		
Konit	z Contracting Inc		385	21.06	8,108.10
ENGI	NEER'S ESTIMATE			19.00	7,315.00
30110-0000	TON	AGGREGATE SURFAC	CE COURSE GRADING	G H, ROAD R-25	
Konit	z Contracting Inc		13,200	10.15	133,980.00
ENGI	NEER'S ESTIMATE			10.50	138,600.00
30301-6000	STA	ROADWAY RECONDI	TIONING		
Konit	z Contracting Inc		217.00	56.40	12,238.80
ENGI	NEER'S ESTIMATE			53.00	11,501.00
63501-0000	LPSM	TEMPORARY TRAFFI	C CONTROL		
Konit	z Contracting Inc		ALL	2,080.00	2,080.00
ENGI	NEER'S ESTIMATE			1,747.00	1,747.00
63509-1000	FIX HR	TEMPORARY TRAFFI	C CONTROL, FLAGGI	ER	
Konit	z Contracting Inc		267	35.00	9,345.00
ENGI	NEER'S ESTIMATE			36.00	9,612.00

Bid Schedule - Option E Project No.: OMAD 18(38)

Project Name: MINUTEMAN MISSILE BASE ROADS OMAD 18(38)

State: MT Opened at: Helena MT
County: TETON By: Michael Kulbacki

MALMSTROM AFB Date: 05/25/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Julee McTaggart

Title: Contracting Officer Date: _5/30/05___

Contract Awarded to: MAY BE AWARDED AT A LATER DATE Date:

Contractor	Bid Amount	Responsive
Konitz Contracting Inc PO Box 598 Lewistown, MT 59457	200,124.20	

Engineer's Estimate 203,416.00

TABULATION OF BIDS

Date: 05/30/20

Bid Schedule - Option E Project No.: OMAD 18(38)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Konitz Contracting Inc			ALL	1,000.00	1,000.00
ENGINEER'S ESTIMATE				15,000.00	15,000.00
15301-0010	LPSM	SM CONTRACTOR QUALITY CONTROL AND ASSURANCE			
Konit	z Contracting Inc		ALL	2,325.00	2,325.00
ENGINEER'S ESTIMATE				2,225.00	2,225.00
15401-0000 LPSM		CONTRACTOR TESTI	NG		
Konit	z Contracting Inc		ALL	1,010.00	1,010.00
ENGI	NEER'S ESTIMATE			2,225.00	2,225.00
15801-0000 MGAL		WATERING FOR DUST CONTROL			
Konit	z Contracting Inc		420	21.06	8,845.20
ENGI	NEER'S ESTIMATE			19.00	7,980.00
30110-0000	TON	AGGREGATE SURFACE COURSE GRADING H, ROAD R-28			
Konit	z Contracting Inc		14,400	11.25	162,000.00
ENGI	NEER'S ESTIMATE			10.50	151,200.00
30301-6000	STA	ROADWAY RECONDI	TIONING		
Konit	z Contracting Inc		235.00	56.40	13,254.00
ENGI	NEER'S ESTIMATE			53.00	12,455.00
63501-0000 LPSM		TEMPORARY TRAFFIC CONTROL			
Konit	z Contracting Inc		ALL	1,250.00	1,250.00
ENGI	NEER'S ESTIMATE			1,891.00	1,891.00
63509-1000	FIX HR	TEMPORARY TRAFFI	C CONTROL, FLAGGI	ER	
Konit	z Contracting Inc		290	36.00	10,440.00
ENGI	NEER'S ESTIMATE			36.00	10,440.00